
2 2 8 CR 203



OR 203 2 2 9



2 3 0 OR 203



OR 203 2 3 1



i-m4w4untAo 40,000 1 40,000 1 40,000

tpnio 30,000 3 90,000 5 150,000

$?"@"io 20,000 2 40,000 3 60,000

@Wllld  JIU 15,000 1 15,000 2 30,000

2 3 2 OR 203



iJib iJ%‘O
3,000 “;Jsiad 5,000 “iJviad

L dhJU  12,000 3 36,000 4 48,000

wiin  ~x&dAn  11,000 2 22,000 3 33,000

?+4LlJdaJ 500 - 500

liGJUfil~7~fU 12,000 2 24,000 3 36,000

i~~~ui~aaJ?un74n47~iu - - 300 - 500

Ld”Ufitj%,hd  1 3 , 0 0 0 3 39,000 4 52,000

i~~~uul~~aJwunCfa% - 450 7 750

T7UAl94~l”~JWJ~ 307,250 450,750

OR 203 233



234 OR 203



O R  2 0 3 2 3 5



i’,>UO
6,667

5,833
5,000
4,lh7
3,373
2,500
1,667
833

2 3 6 Ok 203



ah.lau”iJ
iid  J&l

viail

1.

2.

3.

ahauL3u ttuhlJnBJ

damiJ%Ya  ii?laAer

(UlM)

- -

10,000 5,000

I__-

5,000 2,500

- -

3,333 1,666

625

313

208

50 363

I

75 283

OR 203 237



4.

5.

10.

20.

2,500

2,000

1,000

500

1,250

1,000

500

I 250

125 125

63

31

256

250

313

531

OR 203



6 0 0

Z O O

100

OR 203 239



NS = AI/PN

2N2S  = AI

N’ = (AI)/2S

1~U1U"~JVOJnl5~0dOd~~~~"~~Jnl5~J N =Jm . . . . . . . . . . . . . . (7.1)

240 OR 203



D =  3165/N=  365dAI/2S

= 365+/s . . . . . . . . . . . . . . . . . . . . .(7.2)

D = 365J  [2(25)]/[(10,000)(0.125)]

= 365 d/'I.O4  = 365x0.2

= 73 iUi~"lGlMi.iJfA

V = A/N= A/dAI/2S

O R  2 0 3 2 4 1

.



unu~adlwoJlslrCl~~?u~~~~  15lGi

V  =  {2(10,000)(25)}/0.125

=+/4,000,000

= 2,000 Lmia"l5~J~aHdJ"~J

242 OR 203



OR 203 2 4 3



ii,%*,  12 “iJ ifiJi 5 “iJ

pioil vioil

huvpiui3uom7s~mnu~~ 10,000 uin 10,000 lJvl

Auvyiofr7si~iowdmi~ 8 3 3 2,000

ihlhJ~~J6?LC&J 4 1 7 1,000

AuguinSAd~u~lnJn~J 5 2 125

duvpmsd&iftl 300 125

hymJ~Jnu”ioil 352 2 5 0

illsrnijn 102 uin-J

244 OR 203



Q =i(2AS)/(C'I)...........  7.4

= 2(40,000)(50)/(20)'(0.25)

=~40,000  - 200 lhUVh7dJ~fl~dJWtJ!-

OR 203 245



2 4 6 OR 203



D =

A =

s =

v =

I =

1un?Tmfii

OR 203 2 .4  7



= (X/2)1

= XI/Z

OR 203



(x)1/2)  - (xv1/2)  =  (~sx/v)  - (A(l-D)S) +  ( X D A )

LLIJR  Js(unld!  l,flUyMJnl~n%Ji4~  J ( ax2+bx+c = 0) 76

(x'1/2)  - (xv1/2)  - (xDA)  - (~sx/v)  t  (~(l-D)S) = 0

[(1/2)x2] t [-(VI/~)  - (DA) - (AS/V)]X + [A( l-D)S]  = 0

am-lun7=iii

a  =  I/2, b  5:  -[(VI/2)tfiAt(AS/V)], C  = A(l-D)S

~57~7ui5nwk  x 5mh=pm%~~o~~~

X = {(-btix)}/2a

X=C[(VI/2) + (DA) + (AS/V)]  i./[-WW + (DA) + (AS)/V))l’

X={[(VI/2)tDAt(AS)/V]tJ[-((VI)/2)t(DA)t(AS)/V)]‘-(2IAS(l-D)))/1

OR 203



X = {[(AI/2)t(DA)t(AS/V]+J[-((VI/2)t(DA)+(AS/V)]’-(2IAS(l-D))}/1

4000~25% 40,000~50
= 2 +(3%x40,000)+

4000

+ + (3%x4@,ooo)+40~~~~x50 I*- 2(25%4000~50)(100-31%
25%

2.50 OR 203



!TTilJ~  7.4
3 Y

s7nlnlskJ%a?U~~u7~sr~U~lJ 7
I Y

a+luwhluoJnl~9J%o 1lJoi1wNhlan Ylnloiod7u

1 - 499 0 20.00 VIM

500 - 999 3 19.40

1,000 - 1 ,ElQQ 6 18.80
I " I

nisn~u?~~~ui~nis~J%o~~~~~~~~~~~~~~u~l~l~~ua~ (EOQ) ?iiiruni5  7.4
I ‘V

?unstlhis3J%o 1 - 449 ii-m

Q =J(2AS)/c'I

= 2(40,000)(50)/((20)'(0.25))

=J--

= 200 hiCVll~~J&IMdJ"~J

OR 203 2 5 1



Q =J(2)(38,800)(50)/((19.40)'(0.25))

= 203 huho"i6i~ioniiJ"~J

i+-Mn  6 Llhitd EOQ ?IO

Q q J(2)(37,600)(50)/((18.80)'(0.25))

= 206 hh~"l~~~&iJ"iJ

2 5 2 OR 203



‘ilfll 20.00 u7n 19.40 uin 18.80 uln
8" Y

~~~~Ul~U~DJnl~~J%~~~J2oOx2o~4,OOO 5OOxlQ.4o=Q,700  1000x18.80=18,800

FIu~~J~Y~J~~LGL 4,000/2=2,000 Q,700/2=4,850 18,800/2=9,400

~M?U~~SAQ~U~I~J~~JTI~~ 2,000x0.25=500 4,850x.25 9,400x.25=2,350

=1,212.50

iUVp"&J&l

P~U7U"~J~OJn75~J~O~O~ 2,OGO/200=10 2,000/500=4 2,000/1000  =2
I #

~u~unl7FiJ%osl?JO 10x50=500 4x50=200 2x50=100

ku$uuodnsefiiti

h?UV~JnTrW 2,,000x20=40,000  2,000x19.40=38,800 2,000x18.80=37,600

iu~umiJwMainl

(~u~uib7?i6M~~1~~f~~~ 500 UIM 1,212.50  uln 2,350.OO  uln
I Y

t hpnls~J%o 500 200.00 100.00

t bhplJoJn%.nlId 40,000 um 38.800.00 u7n 37,600.OO  uln

41,000 uin 40,212.50  u’w 40,050.00  UIW

OR 203 2 5 3



Q = 2AS/(CI)  ui=ir 6 = ~AS/(C)IJ--;-  J--;-

254 OR 203



i

YI  = Q

O R  2 0 3



2 5 6 OR 203



OR 203 2.57



EOQ i=hHfUkdAt~lnl lJ%mlA=irAu4lmhJ  q 51n1fioni7u

745?(EOQn) 9,100 LAatulnn'h (PB".,) 0.135 Yin

6Q56(EOQn.,) 7,001 - 9,000 ( PB,.2) 0.155 Yin

6642(EOQ,.,) 5,001 - 7,000 (PB,.J 0.170 mn

'=83(EOQn.3) 3,000 - 5,000 ( PB"., ) 0.190 u l n

597WOQJ 1 - 3,000 ( pB".5  ) 0.210 uin

2 5 8 OR 203



6642 x(Md?Ui3t 0.17 UIYI) x(564.91) x(41.51)

5 , i o o ~711 112.98 UIM 112.85 IJIYI 5,325.83 uin

7001 x(d'IUi3t 0.155 UlVl) ~(542.57) x(4.28)

4,650.OO UIM 108.64 uln 107.00 uln 4,865.64 u7n

9001 x(MiiWai:. 0.135 uln) x(607.57) x(3.33)

4,050.OO u1n 121.52 U?YI 83.32 u?n 4,254.83 uln

1 - 500 1 0 . 0 0 UIM

501 - 1000 9.50 UIM

1001 - 1500 9.15 urn

1501 - uinnii 9.00 urn

OR 203



I-500 2x16500x12.50/((10)1x0.18)

= 151 Md7U

501-1000 Q = 2x15675x12.5O/((Q.5O)~xO.18)

= 155 Mi7U

1001-1500 Q =J2x15097.5x12.50/((9.15)‘x~.18)

= 1 5 8  Hti7U

1501-IJlmlil Q =J2~14850~12.50/((9)~~0.18)

= 160 Md7u

‘1  - 500 (PB,$ 10.00 lJ1n 15 1( EOQn.,)

500 - 1000 ( PBn~J) 9.50 u-In 155(EOQ$

1001 - 1500 (PBnm,) 9.15 U7M lWEOQn.,)

1501 u7nni?(PBn~,) 9.00 urn 160(EOQ)

2 6 0 OR 203



1) fhU?f~  EOQ ynY:h

2) EOQ, (160) iiaun'il  PB,-,(  1501)

3) EOQ”-,  (158) itounil PB”-,(  1001)

4) EOQ,-,  ( 155) toUni1  PBn-,I(  501 )

5) EOQn-3  ( i51) ulnnil  PB,.,(  I  )

- LWS%& IsldoJ”ru?~iU~U~JHu”~~~~?“~U~~”  illn E O Q n-3 ’

PB PB"-3  ' n-2 ' ~a:  PB”-, %'%plnp1l~~J

151

501

1,001

1,501

OR 203

10~1,650~ (151/2)x10x.  18 (1,650/151)x12.50

16,500 135.90 136.59 , 16,772.49

9.50x1650 (501/2)x9.50x.18  (1650/501)x12.50

15,675.O 428.35 41.17 16,144.52

9.15x1,650  (1,001,‘2)x9.,l5x.18  ( 1 , 6 5 0 / 1 0 0 1 ) x 1 2 . 5 0

15,097.50. 824.32 20.60 15,942.42

9x1650 (1,501/2)x9x.18  ( 1 , 6 5 0 / 1 5 0 1 ) x 1 2 . 5 0

14,850 1,215.18 13.74 16,079.55

261



OR 203



OR 203





OR 203



OR 203



O R  2.03 2 6 7



OR 203



a&

siil

ll0

Ia’

--

0

50

100

150

.

5c

1OC

15c

5(

10(

51

0

5ox.o9x5oYlYlx5=1,125

100x.07x50Y1Mx5=1,750

15Ox.O3x5Ou~~x5=1,125

50x.07~50111~~5  = 875

100x.03x50ll?nx5  = 750

50x0.03x50U1Mx5  = 375

0

1,625

375

0

OR 203



lUAliil

rifei

0

50

100

150

4,000 uin

1,625 uin

375 uin

0 uin

0 uin

50 x lo = 500 uin

100 x 10 = 1,000 uin

150 x 10 = 1,500 u7n

4,000 u7n

2,125 Uln

1,375 uin

1,500 uin

2 7 0 OR 203



OR 203 271



2 7 2 OR 203



OR 203 273



180 S

1 . 6 4 X 3 0  =49

180 + 49 = 229

274 OR 203



OR 203 275



276 OR 203



OR 7.03 277



OR 203



N =JAI/2S

=~lO,OOOx.25/(2x5O) =JG

= 25 = 5 t+iJdd

OR 203 2 7 9



hp~d.mn7s~~n  ( R / Q )  s

T@hthJfliiJ~J~Fl  D ( P - U )

p”h?l”J”tiJ$J$“&  D(P-U)/2
I I

a~U7UiU?Unl5w~nndJniJ  D  =  Q / P

?dUhlJf6J~J+dh.  (Q/P)(P-U)/2

~U~U~VYL%&~~~~J~~J  [(Q/P)(P-U)/2](cI)

Augu~mhmisw~m  = tiU~U~~?bdi%db~~~ii~

(R/Q)s = (Q/P)((P-U)/2)(CI)
2RS = Q1(  (P-U)/P)CI

Q1 =  (2RS)/(CI(  l - U / P ) )

Q =*/2RS/(CI(  l-U/P))

2 8 0 OR 203



Q'CI{(P-U)/P]  = 2RS

Q' = (2RS)/CI{  l-(U/P)]

TC = (RS/Q)+(f+'2)((P-LJ)/P)(CI)

= ((800C>12.50)/(1414))+(14

= 70.7t70.7  = 141.7 uin

14/2)((44-22)/(44))1x.20

OR 203 2 8 1



N = (R/Q)

UMU~I  Q ‘bM.ms~~~uua~ao~~Ji

(2RS)/(CI)(l-U/P)}  =JR1/[(2RS)/(CI)(1-U)/P)}

N = {(RCI)(l-U/P)/(2S)

N =,kIR,C,I,(  l-U,/P,)  I+  ER2CI12(  l-U2/P,)  11/(2(S,+SJ

2 8 2 OR 203



N =J{(1000)(250)(0.20)(0.25)(1-1000/2ooo)t

(500)(250)(.40)(.25)(1-500/1500)]  /{(2)(200  UIM + 100 WI)}

N =&250,000x0.05(1-(1,'2))t125,000x0.10(1-(l/3)]  / 2(300)

N =~{125,00(0.5)t12,500(0.667))/600

OR 203 283



2. 1100

3. 800L
2 8 4 *

100

100

50

250 iu

80000 O.lOlJlM 20% 16U1M

110000 0.15 20 22

40000 0.08 20 36

.

OR 2 0 3



1. 80000X0.10

X20%=1600

2. 110000X0.15

X20%=3300

3. 40000X0.08

X20%=640

up J

100/250

=0.40

100/250

=0.40

50/250

=0.2

1.0

I--  Uj/P,

l-0.4

=0.6

l-0.4

=0.6

l-0.2

=0.8

960 uin

1980

3452 Uin

16 UIM

22

s

74 mn

N = I ;12:RjCJI~(1-UJ/l’,}/(2ESJ)

OR 203 '285



2 8 6 OR 203



1,200 0.02

1,225 0.10

1,250 0.15

1,275 0.20

1,300 0.30

1,325 0.10

1,350 0.07

1,375 0.04

1,400 0.02

2 8 7



ihm"l  F-1000

8000 PstiaciEu

5000 wiawTi4

110 IJIYI

h& B-2000

4000 m.iaer/a”pb

1200 v7tiaoFii.i

90 ¶JlW

25 .05

50 .I0

75 .I5

100 .25

125 .20

150 .I5

175 .lO
-___.__-

‘

288 OR 203



paper grade

#l #2 #3 #4

OR 203



Program 6 below is an inventory program that'illustrates random file
access. In this program, the record number is used as the part number, and
it is assumed that the inventory contains no more than 100 different part
numbers. Lines 900-960 initialize the data file  by writing CHR$ (255)  as

the first character of each record. This is used later (line 270 and line
500)  to determine whether an entry already exists for that part number.

Lines 130-220 display the different  inventory functions that the program
performs. When you type in the desired function number, line 230 branches
to the appropriate subroutine.

O k
120
125
130
135
140
150
160
170
180
220
225

230
240

8-8

250
260
270

280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460

OPEN"R",#1,"INVEN.DAT",39
FIELD#l,l AS F$,30  AS D$,  2 AS Q$, 2 AS R$,  4 AS P$
PRINT:PRINT "FUNCTIONS:":PRINT
PRINT 1,"INITIALIZE FILES"
PRINT 2,"CREATE A NEW ENTRY"
PRINT 3,"DISPLAY INVENTORY FOR ONE PART"
PRINT 4,"ADD TO STOZK"
PRINT 5,"SUBTRACT FROM STOCK"
PRINT 6,"DISPLAY ALL ITEMS BELOW REORDER LEV!ZL"
PRINT:PRINT:INPUT"FUNCTION";FUNCTION
IF (FUNCTION<1)OR(FUNCTION>6) THEN PRINT

"BAD FUNCTION NUMBER":GO TO 130
ON FUNCTION GOSUB 900,250,390,480,560,680
GOT0 220

FZt4 BUILD NEW ENTRY
GosuB 840
IF ASC(F$)  255 THE3J  INPUT"OVEXWRITE";A$:

IF A$ "Y"  THEN RETURN
LSET F$=CHR$ (0)
INPUT "DESCRIPTION";DESC$
LSET D$=DESC$
INPUT "QUANTITY IN STOCK":Q%
LSEJT  Q$=MKI$(Q%)
INPUT ":R!ZORDER  LE?JEL":R%
LSET R$=MKI$(R%)
INPUT "UNIT PRICE".P,
LSET P$=MKS$  (P)
PUT#l,PART%
RETURN
REM DISPLAY ENTRY
GOSUB 840
IF ASC (F$)  ~255  THEN PRINT "NULL ENTRY":RETURN
PRINT USING "PART NUMBER ###";PART%
PRINT D$
PRINT USING "QUANTITY Oti  HAND #####":CVI(Q$)
PRINT USING "REORDER LEVEL #####";CVI(R$)
PRINT USING "UNIT PRICE $$##.##":CVS(P$)

2 9 0 OR 203



470 RETURN
480 REM ADD TO STOCK
490 GosuB 840
500 IF ASC(F$)  =255  THEN PRINT "NULL ENTRY":RETURN
510 PRINT D$:INPUT "QUANTITY TO ADD ";A%
520 Q%=CVI(p$,+A%
530 LSET Q$=MKI$(Q%)

1 540 PUT#l,PART%
550 RETURN
560 REM REMOVE FROM STOCK
570 GOSUB 840
580 IF ASC(l?$)  =255  THEN PRINT "NULL ENTRY":RETURN
590 PRINT D$
600 INPUT "QUANTITY TO SUBTRACT";S%
610 Q%=CVI(Q$,
620 IF (Q%-S%)  0 THEN PRINT "ONLY"*Q?"'  IN STOCK":GOTO 600I or
630 Q%=Q%-S%
640  IF Q%= CVI(P.$)  THEN PRINT "QUANTITY NOW";Q%;

I8 REORDER LEVEL";CVI(R$)
650 LSET Q$::MKI$(Q%)
660 PLIT#l,PART%
670 RETURN
680  FcEM DISPLAY ITEMS BELOW REORDER LEVEL
690 FOR I=1  TO 100
710 GET#l,I
720 IF CVI(Q$,  CVI(R$)  THEN PRINT D$:"  QUANTITY":

CVICQ$,  TAB(50)  "REORDER LEVEL";CVI(R$)
730 NEXT I
740 RETURN
840 INPUT "PART NUMBER";PART%
850 IF(PART%;  l)OR(PART% 100)  THEN PRINT "BAD PART NDMBER":

GOT0 840 ELSE GET#l,PART%:RETURN

Data File Input and  Output

890 END
900 REM  INITIALIZE FILE
910 INPUT "XRE  YOU SURE";B$:IF F$ > "Y**  THEN RETURN
920 LSET F$=(XR$(255)
930 FOR I=1  'TO 100
940 PuT#l,I
950 mm I
960 RETURN

a-9

Data File Input and Output

OR 203 291


